=1 5T L= A al
HSEHIA % Hijs4Ad| JiEF Y Al

1 72 2 & &

(] AIIHR

A1 717 Mod elukE-

A1 914 AEA FATF 2AkE 594 9] 11

PV, T ) ez ()

6 10,289.00049 10,289,00049 0 %

Aol O BIEHZA wiAn] (REHZS) /Mek(aA], Zh])

A e VIAAEF A GA] Bz [(RIgkol A [JEadEA (R E [7]e
AQABEA | ARTFCEATF 2] 10)

(] AFY MZAH ol AMRER CHA {5
A | AlE | FAAA | e8| s AA (KRR AR A | QEA AL | EA)-E9
~ ] ] ] ] ] ] ]
A4 | =4
N
] A EtERX}

Al K 3} & el Fi3
. 213 L] &7 A% HEd
B stalel 2133-3860 2133-3876 2133-3880

2 off AF M ™




] olat S (9] - A9
; 20154 201664 0 o

A (x-) (x-) (x-) (x-) (x-)

16,389,500 7,276,000 10,289,000 3,013,000 4]

2 4] (x-) (x-) (x-) (x-) (x-)

= 16,389,500 7,276,000 10,289,000 3,013,000 4]

L] olah 7L & A=A

HHEAE A Al
O MEHZ AR 2A Y AAE} = 10,289,00044
- WA A = 8,832,00044
> Bl 52 9 1 - 599,000414
599,000,000
> WHE 0}E - 1,560,0004%
1,560,000,000
b oby B = 3,505,00044
3,505,000,000
> 744 7}k = 1,628,00044
1,628,000,000
by T2 TR - 600,000%4
A 600,000,000
b Ax Az - 940,00049
940,000,000
- A7) AR A) = 362,00044
362,000,000
_ *]‘éi%} 47H3}_ = 1,095,000*‘1%‘
b w9 TE uow = 130,0004 <
130,000,000
b ZH AE Z7 = 230,0004%
230,000,000
> Az AL NS = 635,00044
635,000,000
> Gob B30 =9 = 100,000
100,000,000

3| AP & 9




- ZFA A A A3=% 2 A6z
O 7let A, AH S)
- z2 34 A2011-18& (W)
- Bl EH 2= vz Adn] ek oA
A (3B 7-13676(2014.8.26.))
D AI.O-lLHR
o 4 A 2 AA FAT Aks 594 o] 11704
i B BlEgEA 5w An (ZEEZ AR A

® : u)

O A7z 1 20

O AE @ BledZzA 12704 wisAdn(ZHEZ 5) 199 A= 2
Al A H 7}

O FAH] : 10,289WurA (A]4H] 10,289)

miE S ETE
©2014. 5 : Bleg=zA Au axF7] 445 A% 134 A3 9
©2014. 6 : ¥lEg=ZA Av] 3AF7] A5 A% 22 A2
©2014. 7 : Bleg=zA Au aAF7]) 445 A% 3% A3 9
©2014. 8 : Wl=d=a An] M- F77E A
O SESTARAIYFH TRA)
O vlEF=A wlAnE A7|AEesE =33 RHHPZ ARV 5=
A GA, gulyela BEg AAe Heto] 494 Bxge] bgHQl
gdoz }5adl o
L] AFEFEIERL
o WA

-G EA = AR = AQiAE = AIAY = A]] £F

-JFFI = HAAAA = At = B F=
] 201749 FrAdA (58] : AY)
A A A2} FA 717+ | A3 sl FRA &

Al 10,289,000




Aedubas 2017.01 AA gl ke
AIA e 2017.02~2017.12 10,289,000 | REEZE a4 9 AART}
AFE 2017.12 IAYE
4 At Y =& 1}
] A2 39 AN
20149 % OHXZ 17t A
201549 % O HZ 39 4]
201649 % O HZ 9 AR7] 27d ZA|
[] e= J|ti= 2}
0 AV AEeR wFR BERE ANINE wAl W BEg AL skl
b 7HsAEHE FA delste] AL 2 F s oh
51 f§ =234 A AHE &
(k9] - A9
AL | Hxi Ado]d o] Al 7 o] A& A eyl A o] A ey zton
9013 (x-) (x-) (x-) (x-) (x-) (x-) (x-)
2,000,000 0 0 2,000,000 1,815,445 0 184,555
92015 (x-) (x-) (x-) (x-) (x-) (x-) (x-)
16,389,500 0 0] 16,389,500 9,673,564 6,621,447 94,489




D EEETH(167x)
Y| R AL
HRSE=1=E{E ] P




